Raviewy: S Wing  Equahens

Thursday, January 30, 2020 2:05 PM

equation -
Ax-+1 =]

Mo value 3 male M equeha s

So Hw  goluhen o ARTs Qauaher 3 X =3

nole - YL's S Somzsjnms callea
Mo Soluhen  gof

and  can  be wrnllea s 532

Lotkhr gk Xla‘i hay saluhons

x= 3 -3 (x=%3)

333

how Jo ol eguahas:

a)(—t’ =/

2ax + |\ -1 = 7 - <  adding o sublmchy
Mha seme Ahing {eem

XO01 Lecture Page 1



I<= 6

> 2

X =73
#a0 ~Sw 44 = -9

method #1

"SX +<—( /L'I '.‘?"*]X/C’

—S% = 1% -4y
—Sx +G% 7 —1B-bx + 9

-x = -13

#‘10

XO01 Lecture Page 2

lﬁd_fh—\ S'des dAoes ol
OL\Q\% Y solUheg

< my H“\\Fljt,j /d‘““\d'j looh. s<ds

— 9YX
mathod H#:
~Sx+4 = —7 —SX
+94+9 = — 9% + Sx
15 = X
x =13
X \do
>
10 x



lo
A S ()s _ ox=5\. (3)Is
S S
Sx - 3 (x-v) ~ 4S
gX - gX —-f— I%- =4S
ax -~ 30

XO01 Lecture Page 3



